		ВС		TRUSTE	ES	
		Workshop	х	Regular		Special
<b>A</b> )		Report Only	,			Recognition
	Presenter(s	<b>)</b> :				
	Briefly desc	ribe the subje	ct of the rep	port or recog	nition presen	tation.
	L			<del></del>	· · · <u>-</u> ·	
<b>D</b> \		Antion Thom	_			
В)	x Presenter(s	Action Iten	ISMAEL MIJA ROLANDO SA MARIO GARC	LINAS, DEPUTY S IA, FOOD SERVIC	UPT. FOR DISTRICE DIRECTOR	OR BUSINESS & FINANCE OT OPERATIONS
3)	Presenter(s		ISMAEL MIJA ROLANDO SA MARIO GARO DAVIS POWE LUIS VELEZ, I	LINAS, DEPUTY S	UPT. FOR DISTRIC E DIRECTOR F RECORD	OR BUSINESS & FINANCE TOPERATIONS
3)	Presenter(s  Briefly desc  CONSIDER AN NO. 243307 FO SUPERINTENI OF GOODS OF	ribe the action  ND TAKE APPRO  OR FOOD DISTRIF  DENT OR DESIGN  R SERVICES AS I	ISMAEL MIJA ROLANDO SA MARIO GARC DAVIS POWE LUIS VELEZ, IN required. PRIATE ACTION BUTION AREA NEE THE AUTI PER BOARD PO	LINAS, DEPUTY S LIA, FOOD SERVICE LL, ARCHITECT O PURCHASING DIF ON ON THE REC LEQUIPMENT A HORITY TO MA OLICY CH AND	EUPT. FOR DISTRICE DIRECTOR FRECORD RECTOR  QUEST TO AWAR ND THE BOARD KE RELATED B' TO AMEND THE	T OPERATIONS  RD SEALED PROPOSAL DELEGATES THE UDGETED PURCHASE
3)	Presenter(s  Briefly desc  CONSIDER AN NO. 243307 FO SUPERINTENI OF GOODS OF	ribe the action  ND TAKE APPRO  OR FOOD DISTRIF  DENT OR DESIGN	ISMAEL MIJA ROLANDO SA MARIO GARC DAVIS POWE LUIS VELEZ, IN required. PRIATE ACTION BUTION AREA NEE THE AUTI PER BOARD PO	LINAS, DEPUTY S LIA, FOOD SERVICE LL, ARCHITECT O PURCHASING DIF ON ON THE REC LEQUIPMENT A HORITY TO MA OLICY CH AND	EUPT. FOR DISTRICE DIRECTOR FRECORD RECTOR  QUEST TO AWAR ND THE BOARD KE RELATED B' TO AMEND THE	T OPERATIONS  RD SEALED PROPOSAL DELEGATES THE UDGETED PURCHASE
	Presenter(s  Briefly desc  CONSIDER AN  NO. 243307 FO  SUPERINTENI  OF GOODS OF  ACCORDINGI	ribe the action  ND TAKE APPRO  OR FOOD DISTRIF  DENT OR DESIGN  R SERVICES AS I	ISMAEL MIJA ROLANDO SA MARIO GARC DAVIS POWE LUIS VELEZ, IN required. PRIATE ACTIC BUTION AREA NEE THE AUTI PER BOARD POMATTERS REI	LINAS, DEPUTY S LIA, FOOD SERVICE LL, ARCHITECT O PURCHASING DIF ON ON THE REC EQUIPMENT A HORITY TO MA OLICY CH AND LATED TO THIS	CUPT. FOR DISTRICE DIRECTOR FRECORD RECTOR  CUEST TO AWAR ND THE BOARD KE RELATED B' TO AMEND THE PROJECT.	RD SEALED PROPOSAL DELEGATES THE UDGETED PURCHASE BUDGET
B) C)	Presenter(s  Briefly desc  CONSIDER AN  NO. 243307 FO  SUPERINTENI  OF GOODS OF  ACCORDINGI	eribe the action In take approve the food distribution of design R SERVICES AS IN TO INCLUDE I	ISMAEL MIJA ROLANDO SA MARIO GARC DAVIS POWE LUIS VELEZ, IN required. PRIATE ACTIC BUTION AREA NEE THE AUTI PER BOARD POMATTERS REI	LINAS, DEPUTY S LIA, FOOD SERVICE LL, ARCHITECT O PURCHASING DIF ON ON THE REC EQUIPMENT A HORITY TO MA OLICY CH AND LATED TO THIS	CUPT. FOR DISTRICE DIRECTOR FRECORD RECTOR  CUEST TO AWAR ND THE BOARD KE RELATED B' TO AMEND THE PROJECT.	RD SEALED PROPOSAL DELEGATES THE UDGETED PURCHASE BUDGET
	Presenter(s  Briefly desc  CONSIDER AN  NO. 243307 FO  SUPERINTENI  OF GOODS OF  ACCORDINGI  Funding sou	eribe the action In take approve the food distribution of design R SERVICES AS IN TO INCLUDE I	ISMAEL MIJA ROLANDO SA MARIO GARC DAVIS POWE LUIS VELEZ, IN required. PRIATE ACTIC BUTION AREA NEE THE AUTI PER BOARD POMATTERS REI	LINAS, DEPUTY S LIA, FOOD SERVICE LL, ARCHITECT O PURCHASING DIF ON ON THE REC EQUIPMENT A HORITY TO MA OLICY CH AND LATED TO THIS	CUPT. FOR DISTRICE DIRECTOR FRECORD RECTOR  CUEST TO AWAR ND THE BOARD KE RELATED B' TO AMEND THE PROJECT.	RD SEALED PROPOSAL DELEGATES THE UDGETED PURCHASE BUDGET
	Presenter(s  Briefly desc  CONSIDER AN  NO. 243307 FO  SUPERINTENI  OF GOODS OF  ACCORDINGI  Funding sou  BUDGETE	eribe the action In take approve the food distribution of design R SERVICES AS IN TO INCLUDE I	ISMAEL MIJA ROLANDO SA MARIO GARO DAVIS POWE LUIS VELEZ, IN required. PRIATE ACTIO BUTION AREA NEE THE AUTI PER BOARD PO MATTERS REI  the source of	ILINAS, DEPUTY S ITA, FOOD SERVICE ILL, ARCHITECT O PURCHASING DIF ON ON THE REC EQUIPMENT A HORITY TO MA OLICY CH AND LATED TO THIS	EUPT. FOR DISTRICE DIRECTOR F RECORD RECTOR  PUEST TO AWAR ND THE BOARD KE RELATED B TO AMEND THE PROJECT.	RD SEALED PROPOSAID DELEGATES THE UDGETED PURCHASE BUDGET



## Eagle Pass Independent School District

#### **MEMORANDUM**

To:

Mr. Ismael Mijares, Deputy Superintendent for Business and Finance

From:

Mr. Luis A. Vélez, Purchasing Director

Luis Vélez

2024.08.14 17:07:54

Date:

August 6, 2024

**Subject:** 

**Recommendation on Sealed Proposal Number 243307 for Food Distribution** 

**Area Equipment** 

Based on the submitted proposals, the Department of Purchasing recommends that Sealed Proposal 243307 for Food Distribution Area Equipment be awarded in accordance with the specifications and requirements of the proposal and as per the attached Tabulation Sheet.

If you have any questions or need more information regarding this matter, please contact me at the Purchasing Department.



# Eagle Pass Independent School District

### MEMORANDUM

TO:

Luis Velez, Purchasing Director

FROM:

Mario E. Garcia, Food Service Directo

DATE:

August 14, 2024

SUBJECT:

**FOOD DISTRIBUTION AREA EQUIPMENT** 

This is to make the award recommendations based on the bids submitted under proposal No. 243307 and cost/price analyses conducted for the Food Distribution Area Equipment for EPHS and CCWinn HS.

MISSION RESTAURANT SUPPLY

Please feel free to contact me regarding this matter.

Thank You

APPROVED:

Rolando Salinas, Deputy Superintendent of District Operations

WWW.EAGLEPASSISD.NET

587 Madison Street • Eagle Pass, Texas 78852 • Tel (830) 773-5181

### EAGLE PASS INDEPENDENT SCHOOL DISTRICT SEALED PROPOSAL NO. 243307 - FOOD DISTRIBUTION AREA EQUIPMENT - PROPOSAL SHEET

EAGLE PASS HIGH SCHOOL			MISSION RESTAURANT SUPPLY		
TEM NO.	DESCRIPTION	QUANTITY	UNIT COST	EXTENDED COST	
126	WORKTABLE W. SINK	1	\$ -	\$	
190	REACH-IN HEATED CABINET- 1DR	5	\$ 6,633.00	\$ 33,165.0	
192	REACH-IN REFRIGERATOR - 1DR	5	\$ 7,613.00	\$ 38,065.	
196	BACK COUNTER	2	\$ 3,200.00	\$ 6,400.	
201	SERVING COUNTER	1	\$ 706,300.00	\$ 706,300.	
215.1	PORTABLE GUIDE RAILS	1	\$ 100.00	\$ 100.	
217	SERVING COUNTER	1	\$ 100.00	\$ 100.	
218	SERVING COUNTER	1	\$ 100.00	\$ 100.	
219.1	SERVING COUNTER	1	\$ 100.00	\$ 100.	
219.2	SERVING COUNTER	1	And the second section of the section of the second section of the section of the second section of the section of th	\$	
260	HAND SINK	3	\$ 771.00	\$ 2,313.	
765	DROP FRONT MILK COOLER - 16CASE	2	\$ 6,845.00	\$ 13,690.	
802	MOBILE CASHIER STAND	1		\$	
804	SERVING COUNTER	1		\$ -	
805	SERVING COUNTER	1	100	\$ -	
807	60" REAR LOAD REF MERCHANDISER MILK CASE	1	\$ 32,144.00	\$ 32,144.	
	INSTALLATION	1	\$ 7,250.00	\$ 7,250.	
	TOTAL PROPOSED COST FOR EAGLE PASS HIGH SC	\$ 839,727.			

C.C. WINN HIGH SCHOOL			MISSION RESTAURANT SUPPLY		
ITEM NO.	DESCRIPTION	QUANTITY	UNIT COST	EXTENDED COST	
186	PASS-THRU HEATED CABINET- 1-DR	4	\$ 10,845.00	\$ 43,380.00	
188	PAS-THRU REFRIGERATOR - 1DR	4	\$ 11,170.00	\$ 44,680.00	
190	REACH-IN HEATED CABINET- 1DR	1	\$ 7,946.00	\$ 7,946.00	
192	REACH-IN REFRIGERATOR - 1DR	1	\$ 8,847.00	\$ 8,847.00	
196	BACK COUNTER	1	\$ 2,500.00	\$ 2,500.00	
207	48 REAR LOAD REF MERCHANDISER MILK CASE	3	\$ 28,900.00	\$ 86,700.00	
217	SERVING COUNTER	1	\$ 638,257.00	\$ 638,257.00	
218	SERVING COUNTER	1	\$ -	\$	
219	SERVING COUNTER	1	\$ -	\$	
260	HAND SINK	3	\$ 771.00	\$ 2,313.0	
807	60" REAR LOAD REF MERCHANDISER MILK CASE	1	\$ 32,144.00	\$ 32,144.0	
905	COUNTERTOP WARMING DISPLAY	1	\$ 2,491.00	\$ 2,491.0	
906	COUNTERTOP REFRIGERATED DISPLAY	1	\$ 1,950.00	\$ 1,950.0	
910	REACH-IN FREEZER/REFRIGERATOR- 1DR	1	\$ 10,985.00	\$ 10,985.0	
922	SERVING COUNTER	1	\$ 9,000.00	\$ 9,000.0	
990	REACH-IN HEATED CABINET- 1DR	1	\$ 7,944.00	\$ 7,944.0	
997	BACK COUNTER-CLOSED BASE	1	\$ 8,750.00	\$ 8,750.0	
	INSTALLATION	1	\$ 9,300.00	\$ 9,300.0	
	TOTAL PROPOSED COST FOR C.C. WINN HIGH SCHO	\$ 917,187.0			

TOTAL PROPOSED COST FOR EAGLE PASS HIGH SCHOOL:	\$ 839,727.00
TOTAL PROPOSED COST FOR C.C. WINN HIGH SCHOOL:	\$ 917,187.00
TOTAL PROPOSED COST FOR BOTH SCHOOLS:	\$ 1.756.914.00